bda 5 F
BTN E—RRHTHE

BETTH &

i

ot




ARSI A S — R SEH THE

SRS HE IS RS TEIL, RICEDD EZAIZLD,
(% AR HI T 5
F1% mARMTEORBEIL, mARHZENLZEN3 1, 107 TFHET S,
2 WARETHEORK, HOYEXS IO, IHF1E SARETHR] I2X5,

(M IETHDOEME)
H2k FTHROMEON, FI-2ARZHEDRVWTREOMIEIHFRICEET D, AL, PROAFZELILETD
LBHEOMIEX, BREOMREELLOLET D,

SR542 A6 HiEH
B AR TR 2



_2_

FI1X B AR LE FE

(% A) (BE:-FA) GE H) (Bf:FH)
4 e & # : ] & #

1. MEEREES 25,522 1.8 & 242

1. HEEREHEE 25,522 1.2 & % 242

2. #% ] & 1 2.8 % £ 27,468

1.#8% & £ 1 1T HREBEEESR 27,468

3. & A & 5,511 3. BiAlREE 3,158

1. #& A & 9,511 1. BRIREE 3,158

4. & 1)1} A 73 4% w £ 239

1.8 I A 73 1.% & # 239

mAGE 31,107 mHaEt 31,107




m AR M T EEFEBHRMAS

1.8 &

(% A) (Bfr:FH) (% H) (Bfr:FH)
S ANERE BIERE & ANERE BIERE b &

1.9#EEREES 25,522 25,522 0 1835 242 273 A 31
258HE 1 1 0 2187 %E 27,468 31,353 A 3,885
34EAE 5511 8,783 A 3,272 SEHAREE 3,158 2514 644
458U A 73 73 0 4 FHE 239 239 0
& 31,107 34,379 A 3,272 & 31,107 34,379 A 3272




2. % A
(13%) SHEERAAS (1R) HERRBES (Bf F )
B AL LIEZE & 5 & & G 2
1. 2EERAESR 25,522 25,522 o1. &% 25,522 \FERmETH &18E 25,522
&t 25,522 29,522 0
(288) #Ritid (198) iRt (Bt F )
B R LIEZE & 5 & & G 2
1. RER 1 1 0. BEe | |BE#E 1
it 1 1 0
(3%%) #@AS (1B #AS (Bt - F )
2 AL LIEES B =5 & i 93
1. BAE 9,911 8,783 A 327211, BAE o011 | ARBBEIMHRERSR) 250
MRS 5,261
&t 9,011 8,783 A 3272
(43%) FEARA (158) FEAA (Bfir: FF)
2 AL LIEES B = 5 | & & a3 93
1. FEIA 13 13 0|1. E=#F 1 | BERERIL 7T 1
2. % A 72 |EHiERN AR ERR) 72
B 73 13 0




3. m

(1 2 = & (1 IHE & (BfE:FF)
" . ]
B X FEE|fIFE E| L B = 5 - i :J3
15 & Z 242 273 A 318k & 1181 HE £ 118
10.FEHE 24| BEE 24
13 AR 100|315 4E A ¥ 100
EEH
B 242 273 A 31




_6_

(2 %) # 7 & (O B REEERS (AL FF)
A AEE|NEE|E B—xs T3 @ B %
1—REEE 27,458 31,343 A 3,885|1.3% M 390|& & $REM 100
Bl& REREN 80
R 210
sk B | EHREERE 42
IRBE 20 XEE 20
10.FEHE 157 |EERE 140
BEE 10
REZ 7
aE—hY U 600
NERBE 295 g1 F 1t 82
BHREEER 77
ET 5515 7 I35 60
NRBELEE 68
F 40K 8
SSLiIEAERiES 0
12.&53EH 150(/ RV BsrERiEH 150
1352 F# & 3,138 | BEFE M —RAH 161
=it EHREEAR 2,592
O —H#E — 2§ 381
SEE R AR 4
17 ERBAE 50| — MR E KM 50
18. 812 WES 22,600 EHELEEES 40
ZftE PR LA ~DEIES 22,560
2453 % 1 1
26.NiRE 15| 15
B 27,458 31,343 A 3,885




(2 2) # B & (1 B RBERE (B FH)
Y . &
B X EE|MEE| B K =5 z & 5] BA
2EBEREE 10 10 O[1.3% M 10| REN 10
it 10 10 0 10
WBIsE st 27468 31,353 A 3885
(3 %) BARIEEE (1 18) BAREE (B FH)
Y i &
B X EE|MEE| B K =5 z & 5] BH
1.8BARRE 1,601 1,143 458| 8k & 926 ER-cEASE 261
RIS E B E 643
THREMEES 22
10 ERE 407 |fTEER RSB
18-+ KRS 150
2.18 - KK FE &R 100
3B A BB ERE 127
APRIEESE 30
13 EAH & 268 |5 268
B
it 1,601 1,143 458 1,601
2 FHEE 361 175 186(8.hk & 336 |ETH RITBARRITHRE 336
10.ERE 25| ITA RRITHHEE 25
Bl 361 175 186 361
SEXIREE 1,196 1,196 RER=E R e 1,196| BELELRESEES 1,196
RitE
Bl 1,196 1,196 186 1,196
BAREE S 3,158 2,514 644




_8_

4 2% F & & (1 18) ¥ E & (BT FF)
" " 0] e
=] X FE E ||l & E |5 A2 X % > = = BA
1.9 & & 239 239 0[29.F & 239 239
it 239 239 0




